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Abuilding has ashadowthatis 25 feet long.
‘Aperson 6 feet call castasimila shadow:

Howlongis the persor's shadow?

Apicture of a sailboat i as shown. What
is the scale factor if the real-life boat s
7500 cm long?
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A group of engineers are building a bridge across a river

and they need to determine how far it is to cross the river.

They will use similar triangles to do this.

S ——
I Determine the length

across the river.
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Distance Across a Pond

Distance Across Frogwallow Pond =
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A picture of a sailboat is as shown. What
is the scale factor if the real-life boat is
7500 cm long?
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/”_ A building has a shadow that is 25 feet long.
. -~ Aperson 6 feet tall cast a similar shadow.

’ N
I .
"y How long is the person’s shadow?

200 ft

25ft




image2.png
Apply the Pythagorean Theorem

In the diagram below, A ABC has altitude BD. If AB = 9.25 cm, AD = 4.80 cm, and CD =13.02 cm,
determine the lengths of BC and BD. Round your answer to the nearest hundredth.

BC = cm
BD = cm

9.25cm

----

A 480cm D 13.02 cm c
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Apply the Pythagorean Theorem
Dutocs Ao roguako Fond = s oo, D B3 AB =45, AD = 8, D
aennstot Bt D s e vttt
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